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> load("dice.RData") -

> length(d)

[1] 1000
> table(d) / ('Y
d
1 2 3 4 5 6 ‘\. 4

.

191 155 159 181 151 163

> plot(1:6, c(table(d)), ylim = c(0, 300))

> abline(h = 1000 / 6, col = "#ff400080", lwd = 3)
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d

1 2 3 4 5 6
191 155 159 181 151 163
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> replicate(8, table(sample(1:6, 1000, | ] /
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(,11 [,2] [,3] [,4] [,5] [,6] [,7] [,8]
1 185 201 174 202 179 193 198 197
2 156 159 158 164 160 141 154 151
3 173 161 195 180 177 153 147 173
4 176 171 173 177 189 174 200 190
5 147 157 152 139 138 171 122 130
6 163 151 148 138 157 168 179 159
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+ table(sample(1:6, 1000, replace = TRUE, \. 9
+ prob = v.prob))) -
> #5 KDE 6 NETREEIS?
> sum(siml1000[5,] > simle00[6,])
[1] 247
> # 3 KDE 4 HNELTREEIS?
> sum(sim1000[3,] > simle00[4,])
[1] 111
>#5 KD 6 NBLEEIC,3 £DE 4 N"ELTREHIE?
> sum((sim1000[5,] > siml1le00[6,])
+ * (sim1000[3,] > sim1000[4,]))
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> data

[11 2246452312043333427243334
[26] 3 753176465247226245451323
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) > mean(data)
> hist(data, breaks = seq(-0.5, 9.5, 1))
Hi [1] 3.56
~ istogram of data
=] [ > abline(v = mean(data), col = "red")
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J00000 oDooooooooo (Sb = i
(S V/variance) ooooooooo
> sd(data) ~ Histogram of data
- ooooooo
(1] 1.7280 = 000000: 000000
> .
> sqrt(var(data)) E@ gpopoooo:0boooa
[1] 1.7280 -
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o« 59 > data.table <- table(factor(data, levels = 0:10))
|:| |:| |:| |:| |:| |:| |:| |:| |:| |:| |:| |:| ((‘f DDDD) |:| > cbind(y = data.table, prob = data.table / 50)
o Histogram of data 0 i’ }OJr:';
oddgooboooododdg gdg . 13 0.06
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ISSX—5 —DHEE i ° 4 10 0.20
~  k OBMHZEE - s . 5 5 0.10
& -_—" 0 2 43a 6 8 0 2 4 6 8 10 6 4 0.08
> table(d) 1000 o ! 7 4 0.08
d123456 8 0 0.00
191 155 159 181 151 163 .Luooo oooood o oooo 9 0 0.00
g o 10 0 0.00
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> hist(data, seq(-0.5, 8.5, 0.5)) # 00000000000
> lines(y, prob, type = "b", 1ty = 2) # 000000000000
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>y <- 0:9 # 000000 (Dooo)
> prob <- dpois(y, lambda = 3.56) # 000000000000
> plot(y, prob, type = "b", lty = 2) > # cbind 000000

> cbind(y, prob)
OO0 (M) O|3s6000 y

" Poisson disfjribution
o

1

prob
0.02843882
0.10124222
0.18021114
0.21385056
0.19032700
0
0
0
0

1

prob
0.00 0.05 0.10 0.15 0.20

1

1

.13551282
.08040427
.04089132
.01819664
0.00719778
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